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RELA¢ëO DO A¢O

P1-L2 P2-L2 P3-L2
P4-L2 P5-L2 P6-L2
P7-L2 P8-L2 P9-L2
P10-L2 P11-L2 P12-L2
P13-L2 P14-L2 P15-L2
P16-L2 P17-L2 P18-L2
P1-L1 P2-L1 P3-L1
P4-L1 P5-L1 P6-L1
P7-L1 P8-L1 P9-L1
P10-L1 P11-L1 P12-L1
P13-L1 P14-L1 P15-L1
P16-L1 P17-L1 P18-L1

A¢O N DIAM Q UNIT C.TOTAL
(cm) (cm)

CA60 1 5.0 426 159 67734
2 5.0 524 32 16768
3 5.0 136 129 17544
4 5.0 28 37 1036

CA50 5 12.5 88 398 35024
6 12.5 12 8 96
7 12.5 80 VAR VAR
8 12.5 56 VAR VAR
9 12.5 20 94 1880

RESUMO DO A¢O

A¢O DIAM C.TOTAL PESO+10%
(m) (kg)

CA50 12.5 565.6 599.4
CA60 5.0 1030.8 174.8

PESO TOTAL

CA50 599.4
CA60 174.8

Vol. concreto (C-25) = 9.46 mį

Ćrea de forma total = 125.52 mĮ
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